Data Management Lesson #3
The graph below shows the relationship between the number of tasks that Nasra performs and the number of tokens she earns.
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[image: 瞎뙛쇘]Continue the pattern of the graph.
How many tasks will she need to perform
in order to earn 16 tokens?
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Consider the growing pattern shown on the
grid below.
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‘The pattern continues in the same way.

‘What ordered pair represents the next point
to be plotted in this pattern?
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Ten students in Mr. Smith’s class record their
height and the length of their feet. The graph
below displays these data.
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Key

@® represents a boy
® represents a girl

‘Which conclusion can be drawn from the data?

a
b

c

a

Aboy has the longest feet.
A girl has the smallest feet.
Taller students tend to have smaller feet.

Shorter students tend to have smaller
feet.
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Emily makes a table of values using the
following rule:

Start with 2 and add 3 to get the next term.

Term T
number erm
1 2

‘Which ordered pair belongs in her table
of values?

a (4.8)
b (4,9
c (4,11)
d (4,14
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Earning Tokens

—

246 810121416
Number of tasks

FEEEE R

PouIED SUSYOL J0 JqUINN




image4.png
R R e




image5.png
Points P and Q are two vertices of a rectangle.
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‘Which set of ordered pairs could represent
the other two vertices of the rectangle?
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